
 
Convective Quasi Equilibrium
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got when we discussed
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Why does convection determine the height of the
tropopause
The atmosphere is in hydrostatic balance

3 a BI
f's 3 dp ftp.ddp
Is It Ryde

I gz Is to

if Zs 0

It Brat deny

Et graftsTedenp
Recalling that Te Te the height of the
tropopause is determined by the convection



Consequence Tropopause goes up higher in a more

humid atmos pere where Pm is smaller
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boundary fadge
After integration over p and over t we get
Ze
Igt Smt

Zt is determined by convection
convection is determined by the energyof the BL

boundary layer


